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« o dN w& dW 55 hce’y’
=f g2 e = E—de= ce)2/ (p:constant)
de O 7 dw 48+/3 E,P
o _ 55 e’y o oo (EIGeV])
E*  48+/3 e,p*(mc?)? (olm])”
2.5
% _1 61x10° EIGV]
E plm] 0.00025, \ \
S+ 0.00020} \ E=3.0 GeV
E =3[GeV], p =19.1/10[m] | \ \
o . o, ().()0()15E \ \ E=50 GeV
s ?=1.31/2.51x10 E 000010} \\
of . % ~5x10" for 1ps 0.00005} .
=2x10™" for 2ps
Jor 2p 0.00000} : w s

(design value)
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55 hce’y’
= N H (s)de = H : constant
ds [, &' HolsMle =g m == (H) (o )
1
H )=——- H d — 12 / 2
< x> 27-[p § Hx_ﬁxn +2axnn+}/xn
5
E[GeV
e = MYy 130 100 LELGeV) (H,)
963 £,p” (mc?)? (oLm])
o 5.x10 M
BED/NSA—2E: | \ \ H_)=0.003[m]
—11[
E =3[GeV], p=19.1/10[m], T 10| \ \ E=5.0 GeV
(H,) =3[ mm] ; 3.x107 1 \ \
— £ =2.6/95x10"[m: rad] & 2.x 10} \ E=5.0GeV__
11 11 \ ~
cf. e, =17x10""[m- rad] 1.x10

(design value) 05 o \K — I —
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. JdN 7 & h(27)
P [ L = ()L ) y*K’F(K)L,

de 15 4me, mc
E. L. Saldin et al., NIM A381 545-547 (1996)

2 212
o E|GeV]) K°'F(K
%=4.82><10‘”( (GeV) ; ( )Lu[m] F(K)~12K +(1+133K +0.4K?)"
(A, [em))
E =3[GeV1,A, =18[cm], K =2 000025 — 7
A, =1.8[cm] E=3)0 GeV ]
L,=30x6+5x22=290[m] 0.000201 - ]
o s f |
— EE =473 x10 o, 00()015: F=510GeV /
E [ P I
% S0 for 1 0.00010} —
of . = =5x or 1ps - -
" _2x10% for ;S 0.00005 f------------ /é ------ S
= ’ l pP : g
(design value) 0'00008.0 0.5 1.0 1.5 2.0 2.5 3.0
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L /2 pl’l und 1 GEz 1
E, = fL 4 f 8 H (S)dé‘ ~5?<Hx> <Hx> L_fL /szdS
AK 2ms K . 2ms
T](S) = E(l COS)\,—M) + 1, T]’(S) = —sm—u

B.(5) = By +§ o (s) = —é

>= ﬁsz 1+ Lu2 11)‘“ 27]0)/2 +4770)’)"u
128.° T 8n B’ /321{2 nKp’

E =3[GeV], K =2, A, =18[mm], L, =290[m], B,, = 5lm], 1, =0/0.01[m]
— (H,) =0.082/0.102[mm]
— £ =92x10"*/1.1x10""[m" rad]

cf . . =1.7x107" (design value)
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